

FIBONACCI AND LUCAS SEQUENCES AT NEGATIVE INDICES

SERPIL HALICI, ZEYNEP AKYUZ,

ABSTRACT. This study investigate the Fibonacci and Lucas sequences at negative indices. In this paper we give the formulas of $F_{-(nk+r)}$ and $L_{-(nk+r)}$ depending on whether the indices are odd or even. For this purpose we consider a special matrix and we give various combinatorial identities related with the Fibonacci and Lucas sequences by using the matrix method. Some of the resulting identities are well known identities in the literature, but some of these are new.

1. INTRODUCTION

Horadam sequences $\{W_n\}_{n\in\mathbb{N}}, W_n = W_n(a, b; p, q)$, are defined as follows,

 $W_n = pW_{n-1} - qW_{n-2}; \ W_0 = a, \ W_1 = b.$

Where a, b, p and q are arbitrary complex numbers, with $q \ge 0$. The sequences $\{W_n\}_{n\in\mathbb{N}}$ have several famous number sequences as special cases. For example, E. Lucas investigated the special cases $\{U_n\}$ and $\{V_n\}$ of this sequence such as

$$U_n = W_n(0, 1; p, q), \ V_n = W_n(2, p; p, q).$$

Further and detailed knowledge can be found in the references [2, 5, 6, 9]. If α and β are assumed distinct roots of the characteristic equation $\lambda^2 - p\lambda + q = 0$, then the terms W_n of this sequence can be computed by the Binet formula.

$$W_n = (A\alpha^n - B\beta^n) / (\alpha - \beta),$$

where $A = b - a\beta$, $B = b - a\alpha$. Note that the Binet formula of the Horadam sequence at negative indices can be given as

$$W_{-n} = \frac{pW_{-n+1} - W_{-n+2}}{q}.$$

²⁰⁰⁰ Mathematics Subject Classification. 11B37, 11B39, 11C20.

Key words and phrases. Horadam Sequence, Recurrence Relations, Matrix Methods.

From [1, 3, 4, 10, 11, 12] we know that the matrix $M, M = \begin{pmatrix} p & -q \\ 1 & 0 \end{pmatrix}$, is reduces to the Fibonacci Q- matrix if p = 1 and q = -1.

to the Fibonacci Q- matrix if p = 1 and q = -1. In [1, 3], using the powers of the matrix $M = \begin{pmatrix} p & -q \\ 1 & 0 \end{pmatrix}$, we derived various combinatorial identities involving the terms of the sequence $\{W_n\}_{n \in \mathbb{N}}$. Furthermore, we consider a special matrix A as follows[3],

$$A = \left(\begin{array}{cc} p^2 - 2q & p \\ -qp & -2q \end{array}\right).$$

And for $n \ge 1$, we calculated the power of it as follows.

$$A^{n} = (p^{2} - 4q)^{(n-1)/2} \begin{pmatrix} V_{n+1} & V_{n} \\ -qV_{n} & -qV_{n-1} \end{pmatrix}; if n is odd number,$$

and

$$A^{n} = (p^{2} - 4q)^{n/2} \begin{pmatrix} U_{n+1} & U_{n} \\ -qU_{n} & -qU_{n-1} \end{pmatrix}; if n is even number.$$

In [7, 8, 9] for any matrix $B = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$, the authors investigated the *nth* power of this matrix B;

$$B^{n} = \begin{pmatrix} y_{n} - dy_{n-1} & by_{n-1} \\ cy_{n-1} & y_{n} - ay_{n-1} \end{pmatrix},$$

where

$$y_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} T^{n-2i} (-D)^i.$$

Note that T and D are the trace and determinant of the matrix B, respectively.

In this study, we derive various identities involving the generalized Fibonacci and Lucas sequences at negative index. For this purpose, we consider a new matrix E as follows,

$$E = \left(\begin{array}{cc} 3 & -1 \\ -1 & 2 \end{array}\right).$$

Now, using the powers of the matrix E we will give the following theorem.

Theorem 1.1. For integers n, we have the following matrices.

$$E^{n} = 5^{(n-1)/2} \begin{pmatrix} L_{-(n+1)} & L_{-n} \\ L_{-n} & L_{-(n-1)} \end{pmatrix}; if n is odd number$$

and

$$E^{n} = 5^{n/2} \begin{pmatrix} F_{-(n+1)} & F_{-n} \\ F_{-n} & F_{-(n-1)} \end{pmatrix};$$
 if *n* is even number,

where $F_n = W_n(0, 1; 1, 1)$ and $L_n = W_n(2, 1; 1, 1)$

Proof. We use induction on n. First, we consider even numbers n. For n = 0, the claim is obvious. We suppose that it is true for n = k and k is even number, then by using the equations, $L_{-n} = (-1)^n L_n$ and $F_{-n} = (-1)^{n+1} F_n$ we get

$$E^{k+1} = 5^{k/2} \begin{pmatrix} L_{-(k+2)} & L_{-(k+1)} \\ L_{-(k+1)} & L_{-k} \end{pmatrix}.$$

When n = k is an odd number if we use the identities $L_{-n} = (-1)^n$ and $L_{n-1} + L_{n+1} = 5F_n$, then we obtain

$$E^{k+1} = E^k E = 5^{(k+1)/2} \begin{pmatrix} F_{-(k+2)} & F_{-(k+1)} \\ F_{-(k+1)} & F_{-k} \end{pmatrix}.$$

So, using the equations, $L_{-n} = (-1)^n L_n$ and $F_{n-1} + F_{n+1} = L_n$, we have

$$E^{n} = 5^{n/2} \begin{pmatrix} F_{-(n+1)} & F_{-n} \\ F_{-n} & F_{-(n-1)} \end{pmatrix}.$$

In a similar way, for odd number n

$$E^{n} = 5^{(n-1)/2} \begin{pmatrix} L_{-(n+1)} & L_{-n} \\ L_{-n} & L_{-(n-1)} \end{pmatrix}$$

can be written. Thus, the proof is completed.

Consequently, by the aid of the matrix E we can get the following equations.

$$det(E^n) = 5^n, \ F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \ n \ge 0$$

and

$$F_{n-1}F_{n+1} - F_n^2 = (-1)^n, \quad L_{n-1}L_{n+1} - L_n^2 = 5(-1)^{n-1}.$$

Thus, the various identities are well known in the literature and involving the terms of Fibonacci and Lucas numbers at negative indices can be easily obtain by the matrix E.

In the following theorem, we give the binomial expansion of the Binet formula for the golden ratio at negative indices.

Theorem 1.2. For $n \ge 1$, we have

$$F_{-n} = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} {\binom{n-1-i}{i}} 5^{\frac{n-2i-2}{2}} (-1)^{(i+1)}, \text{ if } n \text{ is even number}$$

and

$$L_{-n} = 5^{-\frac{n-1}{2}} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} {\binom{n-1-i}{i}} 5^{n-1-i} (-1)^{(i+1)}, if n is odd number.$$

174

Proof. From the following matrices B^n and E^n we can write

$$E^{n} = \begin{pmatrix} y_{n} - 2y_{n-1} & -y_{n-1} \\ -y_{n-1} & y_{n} - 3y_{n-1} \end{pmatrix},$$

where n is an even number and $y_{n-1} = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} {\binom{n-1-i}{i}} 5^{n-1-2i} (-5)^i$.

If we equal the corresponding elements of the matrices E^n and B^n in the Theorem 1.2, then we have

$$5^{\frac{-n}{2}}F_{-n} = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n-1-i}{i} 5^{\frac{n-2-2i}{2}} (-5)^i.$$

If we make necessary arrangements, then we get the following formula.

$$F_{-n} = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} {\binom{n-1-i}{i}} 5^{\frac{n-2-2i}{2}} (-1)^i.$$

A similar proof can be written down for the odd numbers n.

Note that, for n = 5 we can write

$$L_{-5} = 5^{-2} \sum_{i=0}^{2} \begin{pmatrix} 4-i \\ i \end{pmatrix} 5^{4-i} (-1)^{i+1} = -11.$$

Theorem 1.3. For all integers n and $k \ge 1$, we have the following combinatorial identities,

i)
$$F_{-nk} = F_{-n}L_n^{k-1} \sum_{i=0}^{\lfloor \frac{k-1}{2} \rfloor} {\binom{k-1-i}{i}} L_n^{-2i}(-1)^i$$
, *n* and *k* are even numbers.

 $ii) \ L_{-nk} = 5^{-\frac{1-k}{2}} L_{-n} \sum_{i=0}^{\lfloor \frac{k-1}{2} \rfloor} \binom{k-1-i}{i} 5^{-i} F_n^{k-1-2i} (-1)^i, \ n \ and \ k \ are \ odd \ numbers.$

Proof. When n is even number, if we calculate the kth power of the matrices E^n , then

$$E^{nk} = \begin{pmatrix} y_k - 5^{\frac{n}{2}} F_{-(n-1)} y_{k-1} & 5^{\frac{n}{2}} F_{-n} y_{k-1} \\ 5^{\frac{n}{2}} F_{-n} y_{k-1} & y_k - 5^{\frac{n}{2}} F_{-(n+1)} y_{k-1} \end{pmatrix},$$

where

$$y_{k-1} = \sum_{i=0}^{\lfloor \frac{k-1}{2} \rfloor} {\binom{k-1-i}{i}} (5^{\frac{n}{2}} L_n)^{k-1-2i} ((-5)^n)^i.$$

On the other hand, we know that

$$E^{nk} = 5^{\frac{nk}{2}} \begin{pmatrix} F_{-(nk+1)} & F_{-nk} \\ F_{-nk} & F_{-(nk-1)} \end{pmatrix}, \ nk \ is \ even \ number.$$

So, if we equal reciprocal elements of these matrices, we have

$$5^{\frac{nk}{2}}F_{-n} = 5^{\frac{n}{2}}F_{-n}y_{k-1}.$$

Thus, we can get

$$F_{-nk} = F_{-n}L_n^{k-1} \sum_{i=0}^{\lfloor \frac{k-1}{2} \rfloor} \binom{k-1-i}{i} L_n^{-2i} (-1)^i.$$

Note that, for n = 2, k = 4 we get

$$F_{-8} = F_{-2}L_2^3 \sum_{i=0}^{1} \begin{pmatrix} 3-i \\ i \end{pmatrix} L_2^{-2i} (-1)^i = -21.$$

When n and k numbers are odd, the proof can be seen alike for even numbers. \Box

In addition using the multiplication matrix, for m and n even numbers, we can get the following equations.

$$F_{-(m+n)} = F_{-(m+1)}F_{-n} + F_{-m}F_{-(n-1)}, m \text{ and } n \text{ even},$$

and

$$F_{-(m-n)} = 5^{\frac{nk}{2}} F_{-(m-1)} F_{-n} - F_{-m} F_{-(n-1)}, m \text{ and } n \text{ even}.$$

Lemma 1.1. For n, r integers we have

Proof. From the powers of the matrices E and B the proof can be easily seen. \Box

Theorem 1.4. For all integers n, r and $k \ge 1$ we have the following equations.

$$\begin{split} i) \ F_{-(nk+r)} &= \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \left(\begin{array}{c} k-i \\ i \end{array} \right) L_n^{k-2i} (-1)^i (F_{-r} + \frac{k-2i}{k-i} \frac{F_{-(n-r)}}{L_n}), \ n, \ k \ and \ r \ even, \\ ii) \ F_{-(nk+r)} &= \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \left(\begin{array}{c} k-i \\ i \end{array} \right) 5^{\frac{k-1-2i}{2}} F_n^{k-2i} (-1)^i (L_{-r} + \frac{k-2i}{k-i} \frac{F_{-(n-r)}}{F_n}), \ n, \ k \ and \ r \ odd. \end{split}$$

 $\mathit{Proof.}$ If $n,\ k,\ r$ are even numbers, then nk+r is also even number. So, using Theorem 1.2

(1.1)
$$E^{nk+r} = 5\frac{nk+r}{2} \begin{pmatrix} F_{-(nk+r+1)} & F_{-(nk+r)} \\ F_{-(nk+r)} & F_{-(nk+r-1)} \end{pmatrix}$$

can be written. On the other hand,

$$(1.2) \quad (E^{n})^{k}E^{r} = 5^{\frac{r}{2}} \begin{pmatrix} y_{k} - 5^{\frac{n}{2}}F_{-(n-1)}y_{k-1} & 5^{\frac{n}{2}}F_{-n}y_{k-1} \\ 5^{\frac{n}{2}}F_{-n}y_{k-1} & y_{k} - 5^{\frac{n}{2}}F_{-(n+1)}y_{k-1} \end{pmatrix} \begin{pmatrix} F_{-(r+1)} & F_{-r} \\ F_{-r} & F_{-(r-1)} \end{pmatrix}$$

can be written.

So, if we equal the reciprocal elements of matrices in the equations (1.1) and (1.2), then we get

$$5^{\frac{nk+r}{2}}F_{-(nk+r)} = 5^{\frac{r}{2}}F_{-r}(y_k - 5^{\frac{n}{2}}F_{-(n-1)}y_{k-1}) + 5^{\frac{r}{2}}F_{-(r-1)}5^{\frac{n}{2}}F_{-n}y_{k-1}.$$

176

Since, $T = 5^{\frac{n}{2}}L_n$, $D = 5^n$, $y_k = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} {\binom{k-i}{i}} T^{k-2i}(-D)^i$, *n* even number

$$5^{\frac{nk+r}{2}}F_{-(nk+r)} = \left(\sum_{i=0}^{\lfloor\frac{n}{2}\rfloor} \binom{k-i}{i}T^{k-2i}(-D)^{i}\right)\left(5^{\frac{r}{2}}F_{-r} + 5^{\frac{n+r}{2}}F_{-(n-r)}\frac{k-2i}{k-i}T^{-1}\right)$$

and

$$5^{\frac{nk+r}{2}}F_{-(nk+r)} = (\sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} 5^{\frac{nk+r}{2}} (-1)^i L_n^{k-2i}) (F_{-r} + \frac{k-2i}{k-i} \frac{F_{-(n-r)}}{L_n}).$$

can be written.

Thus, the proof of i) is completed. In case ii) the proof can be seen in a similar way.

If we want to give an example, then for n = 4, k = 2, r = 6 we get

$$F_{-14} = \left(\sum_{i=0}^{1} \left(\begin{array}{c} 2-i\\i\end{array}\right) L_{4}^{2-2i}(-1)^{i}\right)\left(F_{-6} + \frac{2-2i}{2-i}\frac{F_{2}}{L_{4}}\right) = -377.$$

And, for n = 5, k = 3, r = 7 we get $F_{-22} = -17711$.

Theorem 1.5. For $k \ge 1$, the odd numbers n, k and even number r we have

$$i) \ L_{-(nk+r)} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} 5^{\frac{k-2i+1}{2}} F_n^{k-2i} (-1)^i (F_{-r} + \frac{k-2i}{k-i} \frac{L_{-(n-r)}}{5F_n}).$$

And when n, k are even numbers and r is odd number we have

ii)
$$L_{-(nk+r)} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} {\binom{k-i}{i}} L_n^{k-2i} (-1)^i (L_{-r} + \frac{k-2i}{k-i} \frac{L_{-(n-r)}}{L_n}).$$

Now, we will give the following theorems without proof.

Theorem 1.6. For $k \ge 1$, we have

$$i) \ F_{-(nk+r)} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} {\binom{k-i}{i}} 5^{\frac{k-2i}{2}} F_n^{k-2i} (-1)^i (F_{-r} + \frac{k-2i}{k-i} \frac{L_{-(n-r)}}{5F_n}), \ n \ odd, \ k \ and \ r \ even, \ i) \ F_{-(nk+r)} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} {\binom{k-i}{i}} L_n^{k-2i} (-1)^i (F_{-r} + \frac{k-2i}{k-i} \frac{F_{-(n-r)}}{L_n}), \ n, \ r \ even, \ k \ odd.$$

Theorem 1.7. For
$$k \ge 1$$
, the odd numbers n, r and number even k we have

i)
$$L_{-(nk+r)} = \sum_{i=0}^{\lfloor \frac{\kappa}{2} \rfloor} {\binom{k-i}{i}} 5^{\frac{k-2i}{2}} F_n^{k-2i} (-1)^i (L_{-r} + \frac{k-2i}{k-i} \frac{F_{-(n-r)}}{F_n}).$$

And when n is even number and k, r are odd numbers we have

ii)
$$L_{-(nk+r)} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} {\binom{k-i}{i}} L_n^{k-2i} (-1)^i (L_{-r} + \frac{k-2i}{k-i} \frac{L_{-(n-r)}}{L_n}).$$

Thus, we derive various identities for the Fibonacci and Lucas sequences at negative index.

References

- Akyuz, Z. Halici, S., On Some Combinatorial Identities Involving The Terms of Generalized Fibonacci and Lucas Sequences, Hacettepe Journal of Math. And Statistics 42(4), 431-435, 2013.
- [2] Freitag, Herta. On Summations and Expansions of Fibonacci Numbers, The Fibonacci Quarterly, 11(1), 63-71, 1973.
- [3] Halici, S., Akyuz, Z., Some Identities Deriving From the nth Power of Special Matrix, Advances in Difference Equations. doi:10.1186/1687-1847-2012-223, 2012.
- [4] Koken, F. Bozkurt, D., On Lucas Numbers by The Matrix Method, Hacettepe Journal of Mathematics and Statistics, 39(4), 471-475, 2010.
- [5] Koshy, T., Fibonacci and Lucas Numbers With Applications, A. Wiley-Interscience Publication, 2001.
- [6] Latushkin, Yaroslav, and Vladimir Ushakov. A representation of regular subsequences of recurrent sequences, Fibonacci Quart. 43(1), 70-84, 2005.
- [7] Laughlin, J., Combinatorial Identities Deriving From the Power of a Matrix, Integer : Electronic J. of Combinatorial Number Theory 4, 1-15, 2004.
- [8] Laughlin, J., Further Combinatorial Identities Deriving From the Power of a Matrix, Discrete Applied Mathematics, 154, 1301-1308, 2006.
- Mansour, Toufik. Generalizations of some identities involving the Fibonacci numbers, arXiv preprint math/0301157, 2003.
- [10] Melham, R. S, Shannon A. G. Some Summation Identities Using Generalized Q -Matrices, The Fibonacci Quarterly, 33(1), 64-73, 1995.
- [11] Vajda, S. Fibonacci, Lucas numbers, and the golden section, Theory and Applications. Ellis Horwood Limited; 1989.
- [12] Zhang, Wenpeng. Some identities involving the Fibonacci numbers and Lucas numbers, Fibonacci Quart., 42, 149-154, 2004.

PAMUKKALE UNIVERSITY, SCIENCE AND ART FACULTY, DEPARTMENT OF MATHEMATICS, DENIZLITURKEY

E-mail address: shalici@pau.edu.tr